Lattice Multiplication (D)

6 6 1
1
0
661 x 10 =
37 5
8
3
375 x 83 =
2 3 2
6
7
232 X 67 =
6 6 0
6
4
660 x 64 =

704 x 15 =

167 x99 =

411 x 14 =

974 x 51 =

Use lattice multiplication to find each product.

8 0 8
6
4

808 x 64 =
2 4 9
5
3

249 x 53 =
8 9 5
9
5

895 x 95 =
9 7 8
8
6

078 x 86 =
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Lattice Multiplication (D) Answers

660 x 64 = 42,240

167 x 99 = 16,533

4 1 1

0 0 0 1
0 4 1 1
1 0 0 4
5 6 4 4
7 5 4

411 x 14 = 5,754

974 x 51 =49,674

Use lattice multiplication to find each product.

2 4 9
1 2 4 5
1 0 0 5
0 1 2 3
3 6 2 7
1 9 7

978 x 86 = 84, 108
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